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?"" 2�X2 �+2 2 - -02 + +

2�AB �+2 2 - -02 -02 -02

-�B �+2 2 - -02 -02 -02

1�2 �+2 2 2 -02 -02 -02
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V�����$����% 4,*�P2P/B+--+-2 *�����Q�����R 2�X2 �+2�Q?""R

2�AB �+2�Q?""R

-�B �+2�Q?""R

1�2 �+2�Q?""R

3���+W����V�����$����%�Q3WV4R 4,*�P2P/B+0+-0 m* 2�X2 /P2

2�AB /P2

-�B /P2

1�2 /P2

3���+W����4��������Q3W4�R 4,*�P2P/B+0+-1 m* -�B AAB

4,*�*��������(������&����4���Y 4,*�P2--0 ������QU�YR + +

4,*�=����#������� 4,*�P2P/B+-2+0 m* + +

4<n�'����@����������Q-�.2�U#�R 4<n�AB+0 m* + +

4<n���������<������ 4<n�B0A+0 U#� + +

4<n�V��Y�����<������ 4<n�-A. U#� + +

4<n���������4����� 4<n�.0BP &o>�0 + +

4<n�4S���4����� 4<n�-.2 &o>�0 + +

4<n�* ���%�4����� 4<n�-A/+0 &o>�0 + +
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